MSA200 - Multistand




OO0 NOYULT A~ WN B

N R R R RPRRRRRR
O LVWoOUNOULIPDdNWNPERO

MSA200 - Multistand

Main Body

Head

Front Quadrant Assembly

Rear Quadrant Assembly

Polyethylene Skid

Body Clamp Assembly - Includes 8mm round knob
Leg

Stem

Head Clamp Assembly - Includes 6mm round knob
Saddle

Pan Head Bolt (M6 x 10mm)

Flange Nut (M6mm)

Hex Bolt (M6 x 80mm)

Round Knob & M6 Nut

Large Round Knob & special M6 Nut

Washer (M6)

Hex Bolt (M6 x 60mm)

Nyloc Nut (M6)

Large Washer (1/4” x 1 1/4”)

Quadrant Washer (special)

—
=]

P WR RPNRPRRPRRPRAERMRRPRPRPRRREPRPRPRPR





